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0.8D-2V | (1)1/0.26| 0.26 | 0.27 | 0.80 | 0.10 3 16 — — = 0.35 2.0 300 102+8 50+2 180
1.5D-2V 7/0.18 | 054 | 053 | 1.6 0.10 5 16 == = = 0.4 2.9 300 104%5 7 85
2.5D-2V 1/0.8 0.8 095 | 2.7 0.12 7 16 = = = 0.5 4.3 1000 1005 7 45
3D-2V 7/0.32| 0.96 | 1.02 | 3.0 0.14 5 24 = == = 0.8 53 1 10014 7 47
5D-2V 1/1.4 1.4 1aF 4.8 0.14 7 24 == = — 0.9 73 7 K (4 27
5D-2W | 11.4 1.4 1.7 4.8 0.14 7 24 0.14 74 24 0.9 8.0 7 K4 k4 27
8D-2V 7/0.8 2.4 2of 7.8 0.18 8 24 — — — 1.2 1A 7 7 K4 20
10D-2V 1/2.9 2.9 3.4 9.7 0.20 10 24 — = — 1.2 13.1 K4 10214 4 14
1.5C-2V | (1)1/0.26| 0.26 | 0.67 | 1.6 0.10 5 16 — — — 0.4 2.9 1000 6914 75+3 96
2.5C-2V 1/0.4 0.4 1.0 2.4 0.12 6 16 — — — 0.5 4.0 K “ 7 52
3C-2v 1/0.5 0.5 1.3 3.1 0.14 5 24 — —_ — 0.8 5.4 K 67+3 z 42
3C-2Vs 7/0.18 | 0.54 | 1.28 | 3.1 0.14 5 24 — — — 0.8 5.4 7 K ” 48
5C-2V 1/0.8 0.8 2.05 | 49 0.14 7 24 — — — 0.9 7.4 # 7 7 27
5C—2W 1/0.8 0.8 2.05 | 49 0.14 7 24 0.14 7 24 1.0 8.3 7 4 4 27
7C-2V 7/0.4 1.2 3.05 | 73 0.18 8 24 = = — 1.1 10.4 K4 4 7 22
10C-2V 7/0.5 1.5 3.95 | 94 0.20 10 24 — — — 1.8 13.0 7 7 7 18 )
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X/mm| mm ACV/1%fE | pF/m Z(Q) dB/km
1VHF 7/0.23| 0.69 9.0 1.5 1 1000 13 300+30 8.9( 200MHz )
2VHF 7/0.26| 0.78 9.5 15 1 7 7 7 7.7( 7 )
3VHF 7/0.29| 0.87 10 2 1 7 e ” 6.8( 7 )
| 4VHF |7/0.32| 0.96 | 10 2 1 ” ” 7 61( 7 ) J
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